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TIME: 1HR 40MINUTES

Read the passage below. It contains blank spaces numbered 1-15. For each blank space, choose the BEST
answer from the choices given
You __1__ she’s an early __2__. Stepping on stage as part of an adult choir at just ten, Linet __3__ been
singing ever __4__. Her story follows the usual __5__ of high school choir sessions and school __6__ but it
doesn’t end there. Just when everyone was __7__ music for something more “serious” she __8__ that she could
still __9__ there with the white-collar stuff.
Linet says she __10__ International Relations and Philosophy, majors at the United States International
University “just for fun” Yes, she’s a joker of sorts. But __11__ books, she graduated with honours __12__ as
she “__13__” all __14__ the course as a __15__ musician.
(adopted and altered from the Daily Nation May 22nd issue 2009)

1. A. could said	B. could say	C. can saying	D. can said
2. A. bloom	B. bloomed	C. bloomer	D. broomer
3. A. is	B. was	C. has	D. were
4. A. for	B. since	C. before	D. after
5. A. temple	B. temper	C. template	D. temperament
6. A. audiencies	B. mob	C. spectators	D. crowd
7. A. going	B. quiting	C. joining	D. rehearsing
8. A. jigared	B. figured	C. figures	D. figuring
9. A. squeeze it in	B. squeeze it on	C. squeeze it for	D. squeeze it up
10. A. take-up	B. take on	C. took up	D. took on
11. A. with	B. for	C. to	D. after
12. A. even	B. also	C. for	D. every
13. A. moonlighted	B. moonlight	C. moonlighting	D. moonlighten
14. A. in	B. for	C. through	D. after
15. A. budding	B. coming	C. singing	D. on-going

For questions 16-18, select the alternative that
best completes the sentence
16.	Neither Patrick______John showed up at the
party.
A. and	B. or
C. even	D. nor
17.	Everyday Jane with her friend Anastasiah
________the teacher’s desk.
A. tidy	B. tidys
C. tidies	D. tidying
18.	Run and call the pupils back to school______.
A. won’t you?	B. must you?
C. wouldn’t you?	D. will you?

For questions 19-21 select the alternative
that means the same as the underlined part of the
sentence.
19.	Julius has formed a habit of accusing others
for his own mistakes and failures.
A. blaming	B. saying
C. abusing	D. suspecting

20.       The plane crash, in which Government
ministers and several MPs died was a great
calamity to the country.
A. crisis                        B. event
C. disaster                   D. incident
21.       Speed and carelessness were the main causes
of fatal accidents on our roads then.
A. serious                     B. deadly
C. dangerous                D. harmful

Questions 22-23 select the alternative that gives
the indirect speech of the given sentence
22.       Carol said to Monie, “I must go home now.”
A. Carol said to Monie that she had to go home
now.
B. Carol said to Monie that she had to go home
at once
C. Carol told Monie to go home at once
D. Carol said Monie must go home now.
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23.	Rotich said, “I am responsible for the mistake.”
A. Rotich said that he is responsible for the
mistake
B. Rotich said that he was responsible for the
mistake
C. Rotich said that I am responsible for the
mistake
D. Rotich said he was responsible for the
mistake

For questions 24 and 25, choose the BEST
arrangement of the given sentences to make a
sensible paragraph
24.	(i) The money was to be given to his grand
mother
(ii) he was tired of the long dusty journey
(iii) He had in his pocket seven hundred





(iv) when Donde travelled to Nairobi
A. i, ii, iii, iv
B. iv, iii, ii, i
C. iv, iii, i, ii
D. iii, iv, i, ii

25.       (i) if he has to fight, he is very dangerous
(ii) Beat his chest and roar frighteningly
(iii) he may stand on his back legs, then
(iv) because of his thick body and extremely
powerful long arms
(v) The gollira is the largest of the Apes

A. v, i, iv, iii, ii
B. i, ii, iii, iv, v
C. iv, v, ii, i, iii
D. v, iv, iii, ii, i

shillings notes

Read the passage below, then answer questions 26-39

Last year’s men’s football runners-up, Nakuru take on hosts. Tambach in the final of the Rift Valley
Zonal College ball-games after they won in their semi-final matches and the Tambach Teachers’ Training College
and the Tambach High School grounds yesterday. The two teams met in the opening match and  settled for a
barren draw in an entertaining match.
Nakuru romped into the final after they beat Narok 2-0 in an explosive semi-final match. After the barren
draw in the first half Nakuru came in more rejuvenated side with their man of the match Evans Oluoch, piling up
the pressure on their opponents. Nakuru’s first goal came in the 54th minute via a penalty after Joe Malibe
handled in the box. Livingstone Ondongo made no mistake from the spot. Then Oluoch headed in a fine corner
kick that found Narok goalkeeper Halkayo Esir flat-footed in the 67th.

(adopted from the Daily Nation March 14th 2009 issue)



26.	This years zonal college balls for the men
football were held at__________.
A. Narok
B. Tambach Teacher’s Training College
C. We are not told
D. Nakuru
27.	Last year Nakuru had finished the matches at
position_________.
A. one
B. two
C. three
D. four
28.	The phrase “setled for a barren draw” means
that__________.
A. the two teams scored equal goals
B. the two teams scored unequal goals
C. the two teams had countless goals
D. the two teams scored no goals
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29.       The semi-final matches were played at the
Tambach grounds and___________.
A. Tambach Primary Schoo grounds
B. Tambach stadium
C. Tambach High School grounds
D. Narok Teacher’s Training College
30.       The word romped is underlined in the passage.
It means____________.
A. play in a hostile manner
B. play a lively game
C. play with a lot of brutality
D. play lazily
31.       According to the passage Nakuru beat Narok
2-0 in the____________.
A. finals
B. semi-finals
C. quarter finals
D. none of the above
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32.	The word “rejuvenated” as used in the
passage means__________.
A. weakened
B. strengthened
C. paralysed
D. confused
33.	The person who displayed greatest pressure
on their opponents was__________.
A. Joel Malibe
B. Livingstone odongo
C. Evans Oluoch
D. Halkayo
34.	Nakuru got their first goal on the_________.
A. 1st minute
B. last minute
C. 26th minute
D. 54th minute
35.	The first goal for the Nakuru team was scored
by__________.
A. Joel Maribe
B. Livingstone Odongo
C. Evans Oluoch





36.       The second was by____________.
A. Ondongo
B. Halkayo
C. Oluoch
D. Malibe
37.       The second goal was through_________.
A. a free kick
B. a penalty by Halkayo
C. a headed corner
D. we are not told
38.       As Oluoch scored the 2nd goal, Narok’s
goal-keeper was___________.
A. standing
B. leaning by the goal-post
C. looking for the ball
D. playing with the ball

39.       Flat-footed means____________.
A. with one leg on the ground
B. with both legs raised
C. with the legs squarely on the ground
D. with legs at ease

D. Halkayo

Read the passage below then answer questions 40-50
Earthworms are inverterbrates. They do not have an external skeleton. Their bodies are made of
ring-like segments known as annuli. These segments are covered in small bristles, which the worm uses to move and
burrow in moist soil and leaf litter. The earthworm’s first segment contains its mouth and as they burrow, they eat soil,
extracting nutrients from the decomposing matter like roots and leaves.


The worms are vital to soil fertility because they take nutrients and minerals from below to the surface through
their waste. They also aerate the soil as they move through it. Most they live for about six years in the wild. They are
preyed on by birds, rats, toads and are also used as baits in fishing. Some species of earthworms are also a delicacy to
the Mori of New Zealand.


Most common earthworms are about seven to eight centimeters long but some can be upto 35cm long. Earth-
worms mate on the surface. They have both the male and female six organs but can fertilize themselves. After mating,
each worm forms a tiny, lemon-shaped cocoon out of a liquid screted from the bulge on the first third of the earthworms
body. The sperm and egg cells are deposited inside the cocoon which is buried. Eggs hatch to baby worms after two-
to-four weeks. There are no fossil records of earthworms because they are soft bodied.



(adopted from the Daily Nations Sunday the 3rd of May 2009)
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40.	The following are ways the earthworm uses
its bristles. Which one is not?
A. In movement
B. In burrowing soil
C. For eating
D. To steady themselves as they move



41.	The earthworm’s food consist of the following
Which one does not belong to the group?
A. Roots
B. Leaves
C. Decomposing matter
D. Fresh plants



42.	The word “vital” is underlined. It means____.
A. dangerous
B. very bad
C. very important
D. useless





46.       Among the following animals, which one
doesnot eat earthworms?
A. Birds
B. Rats
C. Cats
D. Toads



47.       The Mori of New Zealand can be described
as__________.
A. an earth-worm eating species of birds
B. an earth-worm eating group of people
C. an earth-worm eating mammal
D. a man-eating group of worms



47.       The Mori of New Zealand can be described
as__________.
A. an earth-worm eating species of birds
B. an earth-worm eating group of people
C. an earth-worm eating mammal

D. a man-eating group of worms


43.	How do the earthworm add fertility to the soil?

A. By secreting some juices
B. From their wastes
C. From their saliva
D. Burrying and digging

48.       A normal earthworm is about______in length.
A. 5 centimeters
B. 6-7 centimeters
C. 7-8 centimeters

D. 10 centimeters


44.	Earthworms do all the following except_____.

A. aerate the soil
B. burrow the soil
C. pollute the soil
D. add fertility to the soil

49.       According to the passage, it is true to say that
A. earthworms do not have sex organs
B. earthworms have both male and female sex
organs

C. earthworms have only the male sex organs
D. earthworms are not sexually active

45.	Earthworms may live to about_______.
A. three years

B. four years
C. five years
D. six years
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50.       The reason why fossil records for earthworms
are not available is that:-
A. earthworms lived long-time ago
B. earthworms do not die
C. earthworms have soft bodies
D. all earthworms are eaten after death
